Chi—Sq\)omr«\, (3ood nes> ot rr sy ( G.0 F)

* 0d When we wort Yo com p) "‘S(
?ore O\ ?C fn M
b a qiven rode\ . [C'“S‘{Smw\ Dové | et

") Populoh
PRyt
K 9 I\@EK . Eoch Cﬁeﬁoq with e qren \x_\rce,r\ )Pm?o(%on
(Gluer\ ) ()'ob\em)
)T of Tk Q- Spoed G.OF

L\\ Cmﬁé(\w\S - Rodom. Dampl, Ve No eﬁ?'f"\eé counts 16/
PSS [ £ . 'POQ 2% v {-\(\our\ D.




® Prpotesis.  Ho: T wodel 1S @ qwd iy ( contert ofpooen)
a: The medel s nst o %mc\—g\-l' j

@ Cﬁ\c"’\ms /("_Dfmu\a' Sahishes < ?-uolue, <’>i o G\\\-Sbua«'ﬂfl)

UM
z d Eobs} ; @*?jﬂ N IR obSeved Vol (\J\naJv we éouv
l)ﬁ’ ’ 2 exyp exp z.xpec“fé A2 ?’\Ja\\j&
- /
EMUG ] LN'{C}EL:/:;‘S)( Saw\ik SIZ¢ C(ﬂ> e

A

Exvcc\efg Uoloes ot G0 Qom o4 7 N

o e

Deyas ot Frech. (c&.ﬂ - dor cotefpres — \




@ GD‘\C\US\O"\ £ Uoosc.é on e ?—vo\oe_>
I-‘: A ?——\Ja\'-’& < \ess —Fren =,

NERRIRIS e o

x T Yre '\?-VO\UQ \S %\IQ(A&\( o G
we ol dooveyet Ao o .




A professor tells the class on the first day that the distribution for grades 1n all of his classes over the past 20 years, has
been as shown:

21% A’s, 32% B’s, 25% C’s, 14% D’s, and 8% F’s %K
At the end of the semester the class of 40 students feels the professor was lying to them when he originally told them

his normal break down of grades due to the fact that out of the 40 students there were 7 A’s, 10 B’s, 14 C’s, 4 D’s and

5 F’s. Does this data support the class’s claim that the professor was probably lying to them at the beginning of the
semester?
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1) A professor tells the class on the first day that the distribution for grades in all of his classes over the past 20 years,
has been as shown:

21% A’s, 32% B’s, 25% C’s, 14% D’s, and 8% F’s
= o L = = . - :
At the end/of the semester the class ¢f 40 gtudents feels the professor was lying to them when he originally told them his

normal break down of grades due to the fact that out of the 40 students there were 7 A’s, 10 B’s, 14 C’s, 4 D’s and 5 F’s.
Does this data support the class’s claim that the professor was probably lying to them at the beginning of the semester?
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1) Sara hears an advertisement for an award show where they make a claim that 20% of the guests are famous
athletes, 30% of the guests are famous singers, 10% of the guests are well known politicians, 25% of the guests
are famous actors/actresses he remaining guests are non-celebrities. Sara decides to go and check it out,
she takes a random sample eople at the awards show and finds out that 14 are famous athletes, 36 are
famous singers, 2 are well know politicians and 30 are famous actors/actresses and the others were
non-celebrities. Conduct the appropriate tests to see if therg is evidence that would suggest the claim made in
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1) Sara hears an advertisement for an award show where they make a claim that 20% of the guests are famous
athletes, 30% of the guests are famous singers, 10% of the guests are well known politicians, 25% of the guests
are famous actors/actresses and the remaining guests are non-celebrities. Sara decides to go and check it out,
she takes a random sample of 100 people at the awards show and finds out that 14 are famous athletes, 36 are
famous singers, 2 are well know politicians and 30 are famous actors/actresses and the others were
non-celebrities. Conduct the appropriate tests to see if there is evidence that would suggest the claim made in

the advertisement is false. Y O'Z{ab)
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1 109 Randomly selected Americans over the age of 18 were asked how many hours a night they sleep, and the selected Americans
had a'mean sleep time of 6 &-hours with a standard deyiation of L9 hours. An MIT professor believed that people in laly over the age
of 18 sleep meze on average then people over the age of 18 in America. So he also asked 120 randomly selected [talian citizens over

the age of 18 how many hours a night they sleep. The selected Italians had a mean of 7.1 hours of sleep and a standard deviation of
0.6 hours. Is there enough evidence to support the professor’s claim?
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1) 100 Randomly selected Americans over the age of 18 were asked how many hours a night they sleep, and the selected Americans
had a mean sleep time of 6.8 hours with a standard deviation of 0.9 hours. An MIT professor believed that people in Italy over the age
of 18 sleep more on average then people over the age of 18 in America. So he also asked 120 randomly selected Italian citizens over
the age of 18 how many hours a night they sleep. The selected Italians had a mean of 7.1 hours of sleep and a standard deviation of
0.6 hours. Is there enough evidence to support the professor’s claim?
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1) A player wanted to see if their hitting coach was actually helping their batting average, so he did a statistical analysis to test the
hypothesis that the coach was increasing his batting average. Before he hired the hitting coach the player got a hit al6 the
time. After he hired the hitting coach he randoml selected 160 at bats 111 Wthh he had 4 h1ts is this enough statistica tenice
that the coach has l‘Ee_lped the player? ( " Qondom S oMo \/
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1) You are the manager of the packaging process at a cereal manufacturing plant. You want to determine 1f the cereal

filling process is working properly. The process requires no corrective action if the correct amount of cereal per box is at
least 368 grams. To study this, you decide to take a random sample of 45 boxes, weigh each one, and then evaluate the

difference between the sample statistic and the hypothesized population parameter by comparing the mean weight from
the sample to the expected population mean of 368 grams specified by the company. The sample mean 1s 372.5 and the

sample standard deviation 1s 15 grams. Is there evidence that the weight is different from 368 grams?
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1) Explain what a Type I error and a Type II error would be in the context of the problem and state
which one you think would be worse and why? All court cases in the United States start by assuming

the person 1s Not Guilty (Ho).
Scenario: A man 1s on trial for stealing a piece of jewelry from a store, the punishment if found guilty 1s

1 year in prison. (jm\) ' "_Cn“oc_en-\ o \,JCG'\'
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1) What type of test would we conduct if we[were trying to see if the average salary in the United States

was more than $41,000 per year given 2 of $41,750 and it is known that the population
standard deviation is known to be $1,5007 (Pick the best choice below)
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1) We are conducting a two proportion tesido see if Males or Females are more likely to get a speeding ticket.
We take a random sample of 30 Males an@F emales and find out that 12 of the Males had received a

speeding ticket and 8 of the Females had reteived a speeding ticket. Given this information check the
conditions for the Hypothesis Test and state which conditions (if any) are not met. If one or more conditions are

not met what would we do to fix the proklem‘? ,)_

\/(ZonAaﬂ\ govﬂ‘) M P 3 ?F ‘/ﬂné SGMT 7

v 100w 4@09 M \/\0 ng < (Po?(:
sf“’& @

A
WRE yev  #bdTeRezi
Y 5¢) 210
\%m(\?)ﬂb 27@6 (e (1-e) v’

2 Selecl o e femdes unhl we hod
wivh ks R




